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IMPROVEMENT/SUPPLEMENTARY EXAMINATION, OCTOBER 2022

Part — III Time : 2 Hours
COMPUTER APPLICATION  Cool-offtime : 15 Minutes
(COMMERCE)
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General Instructions to Candidates : \
® Thereis a ‘Cool-off time’ of 15 minutes in addition to the writing time.
® Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
® Read questions carefully before answering.
® Read the instructions carefully.
® (Calculations, figures and graphs should be shown in the answer sheet itself.
® Malayalam version of the questions is also provided.
® Give equations wherever necessary.
® Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.
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10.

11.

12.

13.

PART -1

Answer any S questions from 1 to 7. Each carries 1 Score.

Complete the number series (35), (36)4, (37)g,

How many BITS are there in a BYTE ?

The process of detecting and correcting errors in programming is called

Give an example for ternary operator.

The variable which controls a loop is called

Any device which is directly connected to a computer network is called

Write an example for browser.

PART - 1I

Answer any 9 questions from 8 to 19. Each carries 2 Scores.

How data is different from information ?

Name any two optical storage devices.

List major functions of an operating system.

Draw any 4 flowchart symbols.

List out the literals in C++.

Explain cascading of input and output operators.
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20.

21.

22.

23.

24.

25.

26.

Rewrite the following code using

while loop

for(i=1;1<=10;i++)

cout<<i;

Write any 4 fundamental data types in C++.

List any 4 advantages of e-business.

What are the type of interactions in e-governance ?

Write hardware and software requirements to connect the computer to the internet.

Explain any two internet sharing methods.

PART - 111

Answer any 9 questions from 20 to 32. Each carries 3 Scores. (9x3=27)

Compare ASCII with UNICODE.

List out different stages of data processing.

List and explain different language processors.

Write any three advantages of flowchart.

Write any three rules to construct an identifier.

What is a variable ? Explain L-Value and R-Value associated with a variable.

What are type modifiers in C++ ? Write two examples.
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for(i=1;1<=10;i++)

cout<<i;
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28.

29.

30.

31.

32.

33.

34.

35.

36.

Given a=5, b=10. Find x, y, z in the following C++ expressions :
x=a++t;
y=t+b;

z=xty;

Explain nested if with example.

Write the use of the following :

(A) hub

(B) switch

(C) gateway

Categorize the network-based on geographical area.
Write and explain any three e-learning tools.

Briefly explain the sections of e-mail.

PART - IV

Answer any 2 questions from 33 to 36. Each carries 5 Scores.
(A) Asastudent how can you reduce the e-waste ?
(B) List and explain any three e-waste disposal methods.

Briefly explain different phases in programming.

(A) Differentiate entry controlled and exit controlled loops.

(B) Give an example for entry controlled and exit controlled loops.

(A) What is network topology ?
(B) Explain any three topologies.
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x=a++t;
y=t+b;
z=xty;
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